PelleHne ypaBHEHUN C
NMOMOLLIbIO CUCTEM



YCTHbIE ynpa*HEeHUS:






PelleHne ypaBHEHNN C NOMOLLLIO
CUCTEM

Y(x) = g(x) = {f(x) -l E)x))zk,k e N

\/x3 —3x+1=x-1



PelleHne ypaBHEHNN C NOMOLLLIO

CUNCTEM
f( g(x)
Nf(x)=%g(x) =7 f(x)>0 ,keN

| glx)=0

+Ne 9.11(a),



PelleHne ypaBHEHNN C NOMOLLLIO

CNCTEM

f(x)=g(x)
log, f(x)=log, g(x) =< f(x)=0 ,a>0,a=1
| g(x)ZO

lg cos2x =1g sinx



PelleHne ypaBHEHNN C NOMOLLLIO
CUCTEM

4 o
CO0SZ2X = SInX

sinx > 0

.



PelleHne ypaBHEHNN C NOMOLLLIO
CUCTEM

log, f(x)=log, glx)={ f(x

g
>0 ,a>0,a=#1
>0

*Ne 9.13(a,B)



PelleHne ypaBHEHNN C NOMOLLLIO
CUCTEM

f(x>+¢<x>=g<x>+@<x>@{f(X):g(x)

x € D(p)

* Ne 9.14 (a,0)



[lomaluHee 3agaHue:

+1.9.3
+Ne 9.11(6), 9.13(6,r), 9.14 (B)



